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Large area - passing

Coconut shy
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How it works

Three cones are placed opposite each pair of players with a ball balanced
on the top of each one (the coconut shy).

To win the game the players must knock all three balls off the cones within
two minutes.

To do this the first player passes the ball towards the balls balanced on the
cones.

Hit or miss the player must then run out to get the ball back to their partner
as quickly as possible (running with the ball or passing).

Players have two minutes to try and knock all three balls off the cones.

Possible changes

Could have teams of three with a larger group.

Play again but if a pair/group was successful then move the cones a bit
further away to make it harder.
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